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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 5611 6.1 2.2 15 40.7 99.9
2 5611 7.8 2.6 15 52.3 99.9
3 5612 7.9 2.6 15 52.9 99.9
4 5612 7.3 2.5 15 48.7 99.9
5 5610 7.2 2.4 15 47.8 99.9
6 5606 5.9 2.4 15 39 99.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Answer all questions.

Theme 1 – Water

1. (a) Study the OS map extract and photograph below.

A full key to the map is given on page 24.
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(v) Explain how a slip-off slope is formed. [3]





Sticky Note
Reference to slower flow and deposition scores two marks. How could you get a third mark? Can you explain why the water flows at different speeds? 





Sticky Note
Two good points referring to less energy and deposition. For the third mark, the candidate would needed to link these two points by referring to friction as a reason for the lower energy level or the grading of deposited material.
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 Choose at least two of the people above. How and why do their views differ on future 
management of floodplains? [5]

© WJEC CBAC Ltd.

(c)

Study the different viewpoints of the people below.

People have different views about how we should manage flooding in the future.

‘I live next to a river and 
believe that the government 
should spend money on 
hard engineering projects 
like flood walls whatever 
the cost.’

‘More people are likely to 
be at risk from flooding 
in the future. We need to 
plan future building away 
from floodplains so that 
the floodplains can do 
their natural job.’

‘We need to use more 
soft engineering schemes 
which are kinder to 
the environment but 
also reduce the risk of 
flooding.’

House owner River scientist Environmentalist

1





Sticky Note
A solid level 2 answer worth 3 marks. There is some understanding of the issues which goes beyond the resources by referring to the issue of bias and impact of hard engineering. How could you have developed this response? What kind of detail could you add?





Sticky Note
A fairly simple answer but one which illustrates a good understanding of the issues and ability to see the reasons for the two viewpoints chosen. The candidate clearly understands the hydrological impact of building on floodplains and gives a good example of soft engineering. 





Sticky Note
This is more than just simple statements, hence it is better than level 1. There is a clear attempt to balance two viewpoints and the reference to reservoirs helps to achieve this link. The answer lacks the precision and detail for level 3. QWC is generally good.
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 (c) Describe ways in which Newly Industrialised Countries (NICs) like India and China have 
benefited from globalisation in recent years. [5]

5





Sticky Note
Some understanding of the issues with economic and trade benefits described in simple terms. There is little depth to the answer and no specific detail relevant to India, China or any other NIC. A level 2 answer worth 2 marks.





Sticky Note
Some inaccuracy in statement but understanding of economic growth is clear.

Sticky Note
Reference to multiplier shows good understanding of key geographical terms. Just enough to bring the answer into level 3. Some additional specific detail about a named country would have gained full marks.

Sticky Note
Good description of economic benefits of globalisation. Reference to improved infrastructure shows understanding.





Sticky Note
Good understanding of economic benefits with specific detail relating to Tata and India. Short on detail but just worthy of entry into level 3. Reference to another benefit or some more detail relating to India would have gained full marks.



END OF PAPER

(c) Describe how patterns of development can differ within one country you have studied. 
You must draw and sketch a map of the country to help your answer. [5]

Name of country  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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Sticky Note
Some relevant detail relating to Brazil but lacking in precision and detail. Differences in development identified but not enough for level 3. Worthy of 3 marks in level 2. A better map with closer linkage to the text would have gained access to level 3.

Sticky Note
Basic map which is fairly accurate but not linked to written answer.



Sticky Note
A good response with relevant and accurate detail on regional differences in Brazil. Sketch map is poor and adds nothing to answer, level 2 (3 marks).



Sticky Note
A good response with relevant and accurate detail on regional differences in Brazil. Sketch map is poor and adds nothing to answer, level 2 (3 marks).





Sticky Note
A very simple map with simple statements showing some knowledge and understanding. A level 2 response worth 2 marks.





Sticky Note
A solid level 2 response worth 3 marks. The map is simplistic but accurate and the information is relevant and shows some knowledge and understanding of Ghana. A little more detail or better map would have gained access to level 3.
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UNIT 4321/01 – Unit 1 FoundationTier 


Theme 1 - Water 
Question 1   


Rationale Expected answer 
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(a) Study the OS map extract and photo below. 


(v) Explain how a slip-off slope 
is formed. 


Credit three simple statements, one 
simple and one elaborated or one fully 
elaborated statement 


Slower flow (1) less energy (1) to transport 
material (1) increased friction (1) deposition 
(1) grading of material (1). 
Example of full elaboration: Slow flow (1) so 
large stones are deposited (1) first then 
smaller ones (1). 


3 3 
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UNIT 4321/01 – Unit 1 FoundationTier 


Theme 1 - Water Rationale Expected answer 
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(c) Choose at least two of the people above.  How and why do their views differ on 
future management of floodplains. 


See level descriptors below 2 3 5 


TOTALS 5 3 7 15 
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Theme 5 - Globalisation 
Question  5 


Rationale Expected answer 
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(c) Describe ways in which newly industrialised countries like India and 
China have benefited from globalisation in recent years. 


See level descriptors below 3 2 5 


TOTALS 5 7 3 15 
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Question 5(b) (ii)  
Levels of response mark scheme. Work upwards from the lowest level. Award QWC as an integral part of a best fit decision. 
Award 0 marks if the answer is incorrect or irrelevant. 
 


Level Level descriptor 


Level 1 
1 mark 


Simple statements showing limited understanding.  Communication is basic: there is 
little or no structure and/or ideas are communicated in brief statements/bullet points. 


Level 2 
2 - 3 marks 


One way described in some detail or two ways described briefly.  Information is 
communicated by brief statements.  There is a basic structure.  There is reasonable 
accuracy of spelling, punctuation and grammar. 


Level 3 
4 - 5 marks 


At least two ways described in detail related to named newly in industrialised 
countries.  Communication is clear and logical. Spelling, punctuation and grammar 
have considerable accuracy. 


 
Expected answer: 
A range of advantages are relevant, although most candidates will focus on the creation of jobs leading to increased wealth. 
Where this happens, simple description might be worthy of level 2 but more detail such as the type of jobs and nature of industry 
Might gain access to level 3.  Good candidates might also relate the generation of wealth to improved social services and infrastructure 
And the creation of a multiplier effect in the country.  Other factors might include increased national prestige and greater influence on world 
trade with its associated wealth benefits.  Also at level 3, there should be some direct reference and knowledge of a named newly industrialised country, 
for example the increased power of specifically China in world trade in recent years. 
Some may also relate back to tourism from the start of the question but this has to be taken beyond the information given in the  
Resources for credit above level 2.  Credit depth and/or breadth and remember that this is the Foundation tier and, as such, full marks  
equate only to the C Grade. 
 
  








© WJEC CBAC Ltd. 


12 


 
Question 6(c)  
Levels of response mark scheme. Work upwards from the lowest level. Award QWC as an integral part of a best fit decision. 
Award 0 marks if the answer is incorrect or irrelevant. 
 


Level Level descriptor 


Level 1 
1 mark 


Simple statements show limited knowledge and understanding.  No attempt at sketch.  
Max level for no named country.  Communication is basic: there is little or no structure 
and/or ideas are communicated in brief statements/bullet points. 


Level 2 
2 - 3 marks 


Some knowledge and understanding shown of named country.  Simple map adds little 
to answer.  Max level for no sketch map.  Information is communicated by brief 
statements.  There is a basic structure.  There is reasonable accuracy of spelling, 
punctuation and grammar. 


Level 3 
4 - 5 marks 


Detailed knowledge and understanding of named country and its regions.  Accurate 
sketch map supports the answer.  Communication is clear and logical. Spelling, 
punctuation and grammar have considerable accuracy. 


 
Expected answer: 
Content will clearly depend on the country chosen.  There must be an attempt to compare levels of development in level 2 and this 
will be reasonably detailed and accurate for level 3.  The sketch map does not have to be a work of art but needs to be recognisable 
and labelled for level 3. 
Remember that level 3 equates to a C and not A* and as such, be prepared to award at this level for less hank perfect responses. 
Credit reasonable geographical knowledge of a country at level 2 and be guided by the quality 
of the map for level 3. 
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